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2 FRKDKERIERR

485 58 % 685 1A% 8AH 9/ H 1085 1A% 1285 1A% 285 AL

FEL-H R5.4.4 R5.5.11 R5.6.1 R5.7.6 R5.8.1 R5.9.5 HE(E
HEERENSoNT-H R5.4.18 R5.5.19 R5.6.9 R5.7.19 R5.8.22 R5.9.19
KEAT —EE (PH) 75 76 76 74 76 7.8 58~86
EYEFHEERZEKE (BOD) 2.3 15 1.4 0.5k i 1.1 1.3 60mg/LLLTF
LM & 2Kk e (COD) 5.5 5.6 6.4 6.8 6.6 5.1 90mg/LLL T
FiEYE = (SS) 7 [ 1K 1K B 5 60mg/LLLT
7 ILEILKIRIEE D — — — — TR — BESAENCE
KEBRUVTILFILKEEZDMDKEIEEY — — — — 0.0005 i — 0.005mg/LELTF
AR LRUOZDIEEY — — — — 0.003K & — 0.1mg/LLLF
SRRV ZTDMIEEY — — — — 0.01K;# — 0.1mg/LULTF
AHHEEY — — — — 0.1k — 1mg/LLLTF
NMivaLIEEY — — — — 0.055K i — 0.5mg/LULTF
MRERVZDILEY — — — — 0.01K 5% — 0.1mg/LLLF
STFALEY — — — — 0.1K5% — 1mg/LLLTF
HR)BIEETT =)L — — — — 0.0005K i — 0.003mg/LLL T
DVEEEREI) — — — — 0.001K# — 0.3mg/LULT
FhS/O0AIFLY — — — — 0.001%# — 0.1mg/LLLTF
PYIEI=EE P — — — — 0.001K i — 0.2mg/LLLTF
PRIE LR R — — — — 0.001K & — 0.02mg/LLLTF
1, 2—2H00T48Y — — — — 0.001 K — 0.04mg/LLL T
1, 1—2780IFLY — — — — 0.001K 5 — 0.2mg/LLULTF
LZA—1,2—700IFLY — — — — 0.001 K — 0.4mg/LULTF
1,1, 1—kJ)yO0BIZAY — — — — 0.001K & — 3mg/LLULT
1,1, 2—K)H0RIAY — — — — 0.001 K — 0.06mg/LLL T
1, 3—>/007ARY — — — — 0.0023 jiti — 0.02mg/LLULTF
FoIL — — — — 0.001k3# — 0.06mg/LLLTF
PESD — — — — 0.001%K% — 0.03mg/LLL T
FARUAILTD — — — — 0.001 K — 0.2mg/LULTF
RoEY — — — — 0.001%K;% — 0.1mg/LLLTF
LU RUZDILEY — — — — 0.01K;# — 0.1mg/LULTF
F3FRRVZDIELEY — — — — 1.4 — 50mg/LLL T
SORBRUVZDEEY — — — — 0.5 i — 15mg/LLL T
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%ggfézé?/:E—ﬁf-dtn%\ HHEBIEEYMRY _ _ _ _ 4 _ 200me/LELTF
{é{;ggg%)z?ﬁiﬂi%ﬁ SHE _ _ _ _ 1% _ 5mg/LLLTF
JIRIAFTHUREYEESEE 3
(BRI EEEE) - - - - 1R - 30me/LEAT
JI/—\EEFRE = = = - 0.055k i = 5mg/LLLF
HWaRE - - - - 0.02K 5% = 3mg/LLLTF
BINEHE = = = - 0.055K 5 = 2mg/LLLF
BARESESEE - - - - 01K = 10mg/LELF
BEERVAVERE — — — — RES — 10mg/LELTF
YOLER=E — — — — 0.05K i — 2mg/LLLTF
KGR — — — — 50 — 3,000f8/cm LT
FAXXI U5 — — — — 0.064 — 10pg—TEQ/LLLTF




